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QUESTION 1

Which four statements are correct regarding the differences between WSDL/SOAP and REST/JSON? 

A. REST is typically invoked with HTTP verbs. 

B. WSLD is simpler; REST is richer. 

C. Modern API-First architectures prefer to use tried-and-true WSDL/SOAP services over REST services because they
are richer and provide a tighter contract. 

D. WSDL is a request for a service; REST is a request for a resource. 

E. WSDL is a tight contract; REST is a loose contract 

F. REST more easily used in developing Uls than WSDL/SOAP. REST is gaining popularity in application development. 

Correct Answer: BCDF 

 

QUESTION 2

Given that a gateway node should have a dedicated user credential for connecting to the API Platform Management
Service, what grants should be assigned to that user? 

A. Node Service Account 

B. Deploy API 

C. View all Details 

D. Deploy to Gateway 

Correct Answer: A 

Reference: https://docs.oracle.com/en/cloud/paas/api-platform-cloud/apfad/install-
gatewaynode.html#GUID-6848A2B0-03D0-435B-B867-5D9FD80E595B 

 

QUESTION 3

Which two are ways Business Rules can be modeled in Process Cloud Service (PCS)? 

A. using Oracle Business Rules Editor 

B. using OIC Rule Editor 

C. using BPM Rule Editor 

D. using Decision Model Editor 

Correct Answer: AD 
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Reference: https://docs.oracle.com/en/cloud/paas/process-cloud/user/creating-business-rules.html 

 

QUESTION 4

Which Enterprise Application System can be integrated with Oracle Internet of Things (IoT) Cloud Service? 

A. any system capable of receiving HTTP connection or making HTTP requests 

B. only systems which are deployed on Windows or Unix platform 

C. a system which exposes REST Service 

D. a system which exposes WSDL 

Correct Answer: C 

Reference: https://docs.oracle.com/en/cloud/paas/iot-cloud/iotgs/developing-applications-oracle-internetthings-cloud-
service.pdf 

 

QUESTION 5

Which two are NOT default start and end events in Process Cloud Service? 

A. Folder start and None end event 

B. SOAP start and SOAP end event 

C. None start and end event 

D. Task start and end event 

Correct Answer: BD 

Reference: https://docs.oracle.com/en/cloud/paas/process-cloud/user/defining-process-start-
andend.html#GUID-0DC7FF32-B146-4680-BE32-A2362B906564 
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